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- o 6.8 7.0 23.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
He2 | K ¥ Klmtisnmnzte.s 17 0 1.6 0.0 o 0 0.0 0.0 0.0 0.0 o.o
Z 1 11 11 12 12 12 12
R 0.0003 1 0 000317% _ |0.0003K7% _ |0.0003 K7 o 0 03 [0.0003K1% [0-0003m |0.000347% _[0-0003 KT o 00032:4%
3 [IRIV LR OZDILEY mg/1{0.0032L 0.0003A#  |0.0003A47H  [0.0003 A |0.0003A4  [0.0003 A4 [0.0003 A4 [0.0003A4  [0.000344  [0.0003A4  [0.0003 A4
1 1 4 4 4 4 4 4 4 4
- - 0.00005-K7% [0.00005K7m |~ 0.000054<7% [0.00005A7% |- - - - -
Hed KRR ZFDILEY mg/1[0.0005LLF  [0.00005 4 0 000054 |- 0.000054i% [0.000054#% |- - - - -
1 - 4 4 - - - - -
- 0.001 0 001 R 0001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
5 | BL U KOOI EY 4 mg/1{0.01LLF 0.001 0.001A4#  [0.0014#  [0.0014  0.001 0.001 0.0014%#  0.001K7  0.001 0.001 A
B 1 1 4 4 4 4 4 4 4 4
- - & - 0.00TFm  [0.001 0.001 0.001A#  |0-001 A< [0.00T 4@  [0.001 0.001A  [0.00T 0.00 AT
6 | R OFEDLE Y mg/1[0.01LL F 0.0014H  0.001 0.00157 o om%«ﬁ 0.0015%  0.001Ki#%  [0.00157%  [0.0015Ki#%  ]0.001 0001411
1 1 11 4 4 4 4 4 4
- 0.001 0.001 4w _ [0.001 0 001 0.001 0.001 0.001 0.001 0.001 0.001
7 le#E R ONEDIAEY mg/1[0.01LLF 0.001 0.001 44 [0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
1 1 4 4 4 4 4 4 4 4
1. - 0.005/Tm  [0.0064%0  |0.0064%(%  |0.0064%%  [0.0054%m  [0.0054<0m  [0.005im  [0.0064<(%  [0-005%0@  |0.005Ai
8 [Afliza b a mg/1{0.0554 F 0.005K1%  0.00548  [0.0055i 0 0054 [0.00550%  [0.00550E  [0.005  [0.0054  [0.0054 (0,005
1 1 4 4 4 4 4 4 4
A 0.008 0.000%m [~ 0 004K |0.004KT |- = = = =
L9 |HifRAREE F mg/1|0.04LL T 0.008 0.0044# |- 0.0044%#  [0.0045 [~ - - - -
1 1 - 4 4 - - - - -
- — e - 0.00LKTm  |0.000K% |- = = 0.001Tm  [0.001Kim  [0.00LK%  [0-001Kim  |0.001Ki%
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1 1 - - - 4 4 4 4 4
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Hio|7yHEROEOIEY mg/1{0.8L0 F 0.09 0.08Ki |- 0. osﬂ%iﬁ 0.08K |- - - - -
1 1 - 4 4 - - - - -
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13| HRVE R OEDLAEY g [me/1|1 o T 0. i 0. il - 0. LA oLk |- - - - -
; _ _ _ _ _ _
- . - 0.0002K7%  [0.000241% |0.0002K7% |0.0002K7% |0.0002i [0.00021% |0.00027% |0.00024% [0-0002A |0.0002HK 7w |
14| iR mg/1[0.002LL F 0.00024#  [0.00024%#  |0.0002A%i#  |0.0002A4#  |0.0002A4#  [0.000277#  0.0002-#  [0.000247#  0.0002A5i#5 |0.0002A
1 1 4 4 4 4 4 4 4 4
N 0.005Hm _ |0-0054m |- 0.005T  [0.0054m |- - - - -
151, 4—TA XY mg/1)0.05LL 0.005 4% ?Aoosxiﬁ - 2 00547 2 OEESTI - - - -
. 1 _ _ _ _ _ _
R _ i - 0.00AK7m  |0.004A  [0.004A%m  [0.004A4m  |0.004ATm  [0.004%  [0.004Am  [0.004A1m  [0.004A 1%  [0.004AT0m |
H16| (R, FrR) —1, 2V 7ppxFLv %‘ mg/1[0.04LL F ?.0042%'«?«71 (1)‘004%@? (4).0042%‘«?«71 g 00441 (4) 00441 (4) 00441 (4)004%1&*1 (4)004%1&*1 (4)004%1&*1 (4) 0044
N e 0.002770  |0.002A%  [0.00241%  [0.0024%  [0.002Am  [0.002A0w  [0.0027m  [0.0024%  [0-0027m  |0.002Ai%
17|V Ry it mg/1{0.02LLF 0.0024%i  |0.0024%5  |0.002A%  |0.002A%  |0.002A%  [0.0024%  |0.0025K7  [0.0024%#  [0.00244  |0.002Ai;
1 1 4 4 4 4 4 4 4 4
— [ - 0.001Km  |0.001A%  [0-0014im  [0.001A7m  |0.00LM  [0.0017m  [0-0014m  [0.001Aim  |0.001T%  [0.00 4w |
8|7 oo FL Wy mg/1{0.01LLF 0.001A#  0.001A47  [0.001K  |0.001A4%  [0.001R%  [0.001K%  [0.001R4  [0.001R%  [0.001K%  [0.0014
” 1 1 4 4 4 4 4 4 4 4
7 0.001770  |0.001K%  [0.0014%  [0.0014%  [0.001Am  [0.001Am  [0.0017m [0.001AK%  [0-0017m |0.001Ai%
JE19|N) /mn=FL mg/1]0.01LLF 0.00140  [0.0014  [0.0014  |0.001A  |0.001A4  [0.0014  [0.001A0  |0.001K4  [0.0014  [0.001 A
1 1 4 4 4 4 4 4 4 4
- - 0.001Km  |0.001A%  [0-0014m  [0.001A7m  |0.00LM  [0.0017m  [0-0014m  [0.001Aim  |0.001AT%  [0.00 4w |
Ho0[~ B mg/1[0.01LLF 0.001  [0.0014H  |0.0014(  |0.001A4%  |0.001Ad  [0.001 00014 |0.00147  [0.001 00014
1 1 4 4 4 4 4 4 4 4
- 0.06Km  |0.06RTm |- E B 0.06 0.09 0.06 0.09 0.0
Feo1|HE A mg/1[0.6LL F 0.06Ai ?Aoﬁxiﬁ - - - 2063&73& 2 06Kt 2 06Kt 2 06Kt Zossﬁiﬁ
1 _ _ _
- - E = E = 0.002Aw  [0.002A4m  |0.002A %  [0-002A7m  |0.002AK0wm |
22 raakEg mg/1]0.02LL F - - - - - 0.002%#  [0.0027%  [0.0025%T  [0.0025K7  ]0.0025RKM
- - - - - 4 4 4 4 4
= E = 0.031 0.008 0.008 0.015 0.01T 0.013 0.008
P92k PZami=ti I PUN mg/1)0.06 2L T - - - 0.019 0.0064i  0.0064  [0.009 0.00654i#  10.00641  [0.0064i
- - - 4 4 4 4 4 4 4
- - = E = E E 0.004 0.001 0.005 0.005 0.003
Jeoda|voraaFig mg/1{0.03LLF - - - - - 0.00345%  10.003 0.0034  [0.00344  [0.00344
- - - - - 4 4 4 4 4
. % = E = 0.0k [0-01 0.01 0.01 0.01 0.01 0.01
PPl DA =S d=i=5 o 7 [me/1)0.180F - - - 0.01 A 0.01 0.01 4 0.01 4 0.01 0.01 0.01 A
HE - - - 4 4 4 4 4 4 4
il - E E E E E 0.001 0.001 0.001 0.002 0.002
JLo6| Rk Tt mg/1|0.01L4 F - - - - - 0.001 0.001 0.001 0.001 0.001
- - - - - - 4 4 4 4 4
53 = E = 0.04 0.03 0.02 0.03 0.03 0.03 0.02
JE2THERY N A [ mg/1]0.1LLF - - - 0.03 0.02 0.02 0.02 0.02 0.03 0.02
- - - 4 4 4 4 4 4 4
- E E E E E 0.003 0.005 0.003 0.003 00037
Jo28| N 7o mg/1{0.03LLF - - - - - o 0034 |0.0034  |0.00374  |0.00374  |0.003744i5
- - - - - 4 4 4 4
- \ = E = 0.008 0.012 o 008 0.009 0.009 0.01T 0.008
o9l 7 merrun Ay mg/1{0.03LLF - - - 0.006 0.006 0.006 0.006 0.007 0.008 0.006
- - - 4 4 4 4 4 4 4
N - E E E 0.000K7m _ [0-000m  |0-009K% _ [0.0004Tm  [0.000km  |0.009H1%  [0-000Kim
30| 7 aEHRLL mg/1]0.0924 F - - - 0.009A44  [0.0094  |0.00947  [0.009A4  [0.00944  10.009A7  [0.009A
- - - 4 4 4 4 4 4 4
. - B = - = 0.0087<0m _ |0-008Ki% _ |0-0081%  [0-008K  |0-0084i%
31| T VTR mg/1)0.08LL - - - - - 0.008%# (000854 |0.00854i  10.008AK1H  |0.008 A7
- - - - - 4 4 4 4 4
N ] 0. TR 0. 1w 0. TR (RERT [(BERT] [(BERT] 0. 1R 0. 1R 0. 1R 0.1
H32Hgp K 02D E Y mg/1|1.0LLF (1>.u<m (111*‘1.‘@ (4).17&'«\1?1 g‘lﬁm ?mm ?wm (4).l7k“m (4).l7k“m (4).l7k“m (4) BN
- 0.03 2.68 5.15 0.07 0.02m 006 0.03 0.0k 0024 |0-02K0m
33T A= AR FDILE W A mg/1]0.2LLF 0.03 2.68 0.97 0.04 0.024%ifi 0.02 0.02 0.02A%ifi 0.024%i 0.024
B 1 1 11 11 4 4 4 4 4 4
- B - 0.03K1m T.67 1.65 0.0k [0-03Km  |0.03K1%  [0-03m  [0-03Km  [0.04 [RER
34| K DAY mg/1[0.354 F 003 1.67 0.38 0.03K4  [0.03Ad  |0.03AdE  [0.03Kd  [0.03KW  |o.034d  [0.035K
1 1 11 11 4 4 4 4 4 4
- 0.K T 0. TR 0.0K T (BES 0.K % 0.K % 0. R 0. R 0. R (S
FL35| 8 K DB Y mg/1|1.0LLF 0. 1A 0. 144 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A
1 1 11 11 4 4 4 4 4 4
- R 1.6 9.0 4.7 16.0 6.2 9.7 7.2 211 9.7 7.6
H36| TN LK NEDILAY o mg/1[200L4F 11.6 9.0 12.3 14.4 14.3 16.7 15.3 16.0 15.0 14.9
1 1 4 4 4 4 4 4 4 4
- - 0.005K7% _ 0.019 0.068 0.005K7%  |0.0051%  |0.0051%  |0.005k1%  |0.0051%  |0-005K1%  [0-005KT
37|~ T K EDILEY 4 |mg/1)0.05L0 F 0.0054#  [0.019 0.023 0.00558  [0.0055#  0.0054i%  [0.0057#  [0.0057i#  [0.0054#  [0.0055%H
1 1 11 11 4 4 4 4 4 4
5.8 2.3 8.2 2.6 19. 9.2 19.8 19.0 19.8 9.8
H38| k1A mg/1[200L4 F 5.8 2.3 5.8 10.2 15.3 13.7 12.5 14.8 15.1 15.2
1 1 11 11 12 12 12 12 12 12
53 37 88 83 66 T4 53 55 58 62
3NN T I =T R B (THE) lHi mg/1{300L4 53 37 56.1 60.8 52.8 50.0 46.3 45.5 48.5 47.3
R 1 1 11 11 4 4 4 4 4 4
- 100 100 120 23 90 88 85 92 95 99
JLAO| AR TR mg/1{500LL 100 100 95 93 86 76 70 76 83 76




N ~ P - 0.02Km  [0.02KG |- 0.0 [0-02km |-
FeA1|EA A R iEPEA v mg/1]0.2LL F (1).02*“«% (I)Aozﬂéyﬁ - 24027@&% (4).02*‘1% -
- N 0.000003 __]0.000001 |- E = 0.
Hedo| V= A A 7 [me/1]0.00001L4F  0.000002  [0.000001 - - - 0
o 4 4 - - - 4 4 4
. 0.000002 __]0.00000 LA |~ E = 0. ; ; ;
43|12 —AF NA VRNV XA — 5 [mg/1]0.0000184F  0.000002 0.000001 AJi [~ - - 0 . 0.000001 3] 0.000001 At 0.
4 4 - - - 4 4 4 4 4
- - & 0.003 0.00240m |- 0.0020m _ [0.002KTm |- - - - -
44| FEA A FUrTEPER] " mg/1]0.02LL F 0.003 0.0024 |- 0.002:4%#  |o.0024 [~ - - - -
1 1 - 4 4 - - - - -
- 3] 0.00057% _|0-0006541% |- 0.000677% _[0.000641% |- = = = =
JL45|7 = ) —VIH v mg/1{0.00520 0.00054#  [0.00054%0 |- 0.0005A44  [0.0005A44 |- - - - -
1 1 - 4 4 - - - - -
21 71 = E = 0.9 7.0 0.9 0.9 0.9
JLa6| A (RHERZE (TOC) D&E) i mg/130LF 2.1 2.1 - - - 0.8 0.9 0.8 0.8 0.8
W 1 1 - - - 12 12 12 12 12
8.64 767 787 7.80 7.80 7.93 7.83 7.85 787 7.94
JE4 7 pHAH 5.8~8.6 8.64 7.67 7.22 7.20 7.05 7.71 7.55 7.64 7.71 7.59
1 1 197 197 236 12 12 12 12 12
. - - - L oL 3 3 Sl Fmel
48| mk LY QAN - - HERL & L Rl
% _ _ _ 197 2ap p p p P 12
] 3 ] EE TR EE FLRTRL % FRIRL 5 LA
FLa9[ A o RHE TR L5 18 EH wugpl o [HEaL [HEal [MEal [HEael o [HEsl [HEsl
(4 1 1 197 197 236 12 12 12 12 12
- U - 27 37.0 50.6 0.9 0.8 0.5 0.5 0.5 1.0 0.6
H50| A & [5LAF 2.4 37.0 10.9 0540 054 0554 054 0554 054 0.5
1 1 197 197 236 12 12 12 12 12
- T8 235 118.3 0.2RT 02K 0.2%1% 0.2 0.2 0.2 (WERT
H51| B [2BLTF },8 fss Z917 (1)2;27*% (2),3%79%‘2% (]),22*‘2% ?22*5% ?22*5% ?22*5% (l)éz*iﬁ




e A PR P P A R T A R (AR )

LB RO E B

S IRl TN N R

FRA [

KR AR e E Kt Fir it R HKHLE P ksz k| R e bR i o R (A TS CRIR 0 A< DR BTN R
& |EH EA A L OKJ5) OKIE) UFK) Gaktr) |Gakie) |Gakts) | Gakis) | Gakis)
R 0.002 A7 |0.00240m |- 0.0020% _ [0.0020T |- = = = =
A1 |7y TFE R OZDOLAEY mg/1{0.02LLF 0.002A4#  0.0024% |- 0.002K4%  0.0024 |- - - - -
1 1 - 1 1 - - - - -
B - — |0-.0002Fi®  [0-0002KGm |- 0.0002KT% [0.0002RT% |- - - - -
A2 |vIrRUZEDILEY mg/1)0.002L T (BT i) o 000257 [0.0002:4i# |- 0.00024# 0.0002:4 |- - - - -
1 - 1 1 - - - - -
- oozx(ﬁ 0.0024m |- 0.0024% _ [0.0020T% |- B B B E
A3 [=v7 VR OZEOAED mg/1{0.02LL F 0.0024%i  |0.002K78 |- 0002 |0.00244 |- - - - -
1 1 - 1 1 - - - - -
H4 [Hlbx
- 0.0004K1% ]0-00044<1% 0.0004K% ]0.0004Ki% ]0.0004A7m [0-0004K% ]0.00047m [0.0004K1% [0-00047 [0.0004K %
H5(1, 2—Y/mnx=gy mg/1[0.004LL F 0.00044%1#  [0.00044%% |0.0004A%4# |0.00044# 0.000444# [0.000441# 0.00044i#  [0.000447H [0.00044  [0.0004 A4
1 1 4 4 4 4 4 4 4 4
H6 [Hipx
H7 [Hlbx
- 0.00Am  |0.00Kqm  [0-004fm  [0.044m  |0.04AGm  [0.044%m  [0-044w  [0.044mm 0.0  [0.044m
H8 |MLx mg/1)0.4LLF 0.04Ail5 0.04 A 0.04Ail5 0.04 A 0.044il5 0.04Ail 0.04Ai 0.04Ai 0.04Ai 0.04Ai
1 1 4 4 4 4 4 4 4 4
N 0.008m _ |0-0084m |- 0.0087T  [0.0084m |- - - - -
HO |7 XNy (2—F L~FiL) mg/1{0.08LLF 0.008 4% [0.0084% |- 0.008A#  [0.0084H |- - - - -
1 1 - 1 1 - - - - -
B 10| Mt s mg/1]0.6L4 F fEHL TRz | Al
H 11| HIBR
H12| —mefeiisk mg/1]0.6L4 F LT | A IS
N 0.001m  [0-001A&m |- 0.001%75  [0.001Km |- - - - -
H13|v7umreh=kr)L mg/1]0.01 LA FCEF = 0.00 4 [0.0014m |- 0.001 K% 0.00144 |- - - - -
1 1 - 1 1 - - - - -
— _lo00zFm  [0.002Km |- 0.0024%%  [0.002 = B B B E
H14|fakrms—n mg/1[0.02LL F(&F & fo.0024  [0.0024 |- 0.0024  [0.002 - - - - -
1 1 - 1 1 - - - - -
— 0. 1M 0.1 - (BRG] 0. 1M - - - - -
H 15| 3855 i 1 LU 0.1 (l)Alﬂiiﬁ - 0. 15411 2 IEST - - - - -
1 - 1 - - - - -
— - = E = 7.0 0.9 0.8 0.8 7.0 0.6 0.9
H16|&®HiFz mg/I[1LLF - - - 0.8 0.8 0.7 0.6 0.7 0.4 0.8
- - - 197 236 12 12 12 12 12
. — 53 37 88 83 66 74 53 55 58 62
H 17| B A~ Ry WA (i ) mg/1[10~100 53 37 56.1 60.8 52.8 50.0 16.3 15.5 18.5 17.3
1 1 11 11 4 4 4 4 4 4
- - - 0.003 0.019 0.068 0.0014m _ |0.004 0.003 0.003 0.001 0.001 0.003
H18|~ o R OFEDILEY mg/1[0.01LLF 0.003 0.019 0.023 0.0014i%  [0.002 0.002 0.001 0.002 0.002 0.002
1 1 11 11 4 4 4 4 4 4
— 0.0 2.6 5.3 1.0 35 5.3 17 5.3 5.3 5.3
H 19| 5 % mg/1{20L4F 0.0 2.6 16 3.1 2.9 4.2 3.3 3.7 1.0 3.7
1 1 4 4 4 4 4 4 4 4
- 0.03KTm  |0.03A0m  |0.03K0m  |0.03K0w  |0.034%  [0.05m |00 003K 003K 0.03K7m |
H20|1, 1, 1—RN)/upnxx mg/1{0.3L4F o 035 0.03AK4i 0.03A 0.03A4i 003 0.03A47 0.03R47 0,034 0,034 0.03R:45
1 4 4 4 4 4 4 4 4
N — o 0021 |0.002kw |- 0.0020m _ [0.002K0m |- = = - -
H21({AF )V —t—TFL=—F ) (MTE mg/1{0.02LLF 0.002A:4 (lmoozskiﬁ - 0.002 445 (1> L0024 |- - - - -
1 - 1 - - - - -
- - - - 10.7 95 9.2 2.9 2.9 75 7.2 7.2 75 7.2
H22|i~o A Y AHE mg/1|3LLF 10.7 9.5 5.9 2.1 1.8 1.9 2.0 1.8 2.0 1.8
1 1 11 11 4 4 4 4 4 4
- 7 7 3 T T T T T T T
H 23| 53R EE (TON) LT 4 4 3 1 1 1 1 1 1 1
1 1 4 4 4 4 4 4 4 4
— 100 100 120 123 90 88 85 92 95 99
H 24|75 7588 mg/1[30~200 100 100 95 93 86 76 70 76 83 76
1 1 11 11 4 4 4 4 4 4
— — .8 235 118.3 0.1 0.1 0.0 0. UK 0. UK 0. UK 0. UK
H 25| BE|1IUT 1.8 23.5 7.1 0. 1Al 0. LA 0. LA 0. 1A 0. 1A 0. 1A 0. 1A
1 1 197 197 236 12 12 12 12 12
8.61 767 787 7.80 7.80 7.93 7.83 7.85 787 7.91
H 26|pHAE 758 8.64 7.67 7.22 7.20 7.05 7.71 7.55 7.64 7.71 7.59
1 1 197 197 236 12 12 12 12 12
— - - 0.5 0.9 0.5 0.8 0.8 =05 =06 =05 =04 =06
H 27| & (Fo 7V T HED -1~0 0.5 -0.9 -0.9 -1.0 -1.4 -0.7 -0.7 0.6 0.6 -0.7
1 1 4 4 4 4 4 4 4 4
T |348 388 880 9 7 2 T 2 T 2
H 28| 1t B s A fn B “F‘Q:E?OOU 348 388 458.8 4.3 3 1 0.5 0.5 0.5 0.8
FCE7E) 1 1 1 1 1 1 1 1 1 1
N 0.0 0.0 KT 0.0 0.0 1A 0.01i 0.0 0.0 1At 0.01Ti 0.01Ti 0.0t
H29|1, 1—Y/nnxzFL mg/1{0. 124 0.01 i 0.0 Z.olxiﬁ 2 LA 2.01227#& 2.01227#& 0.01 At 0.01 At 0.0 1Al 0.0l
1 1 4 4 4 4
- 0.03 2.68 5.15 0.07 0.01 0.06 0.03 0.01 0.01 0.01
H30| 7 L= AR NEDLEW mg/1[0.1LL F 0.03 2.68 0.97 0.04 0.01 0.02 0.02 0.01 0.01 0.01
1 1 11 11 4 4 4 4 4 4
ZofhiEH Kith fafri #HKH okt RS K [l RS g b R B ST IRBORE D A S A [T R
A H HAL OKIE) OKIE) U5K) GaAkke) |Gk | GaAkee) | Gakke) | Gakee)
31.6 32.2 26.7 76.7 29.3 26.3 34.1 29.6 29.8 29.7
JKIR C 31.6 32.2 17.1 17.4 18.8 17.4 22.3 20.5 20.5 19.6
1 1 197 197 236 12 12 12 12 12
37.0 27.0 15.0 15.0 37.0 13.0 12.0 12.0 16.0 16.0
TV BE mg/1 37.0 27.0 36.5 36.6 35.0 39.5 40.8 39.5 40.8 41.5
1 1 41 41 4 4 4 4 4 4
— 0.0 3.0 10,0 6.0 10 6.0 5.0 6.0 6.0 6.0
FAlR mg/1 0.0 3.0 6.1 4.1 3.3 4.8 3.8 4.3 4.5 4.3
1 1 11 4 4 4 4 4 4
. R — — ﬁs‘[‘t“ﬂ‘ — — — — — — —
IVTRARY LT 2 (10LH) - - RUEET |- - - - - - -
= E T.ORT T.OR% = = = = = =
IN=T A aF 5 AR (PFOS)|ng/1 - - IREST 1O - - - - - -
- _ 1 1 - - - - - -
, E E 95 6.9 = = = = = B
=T NAuA s 5 (PFOA) ng/1 - - 9.5 6.9 - - - - - -
_ - 1 1 _ _ _ _ _ _
N = E = [(RES(H = = = = = =
e pg-TEQ/L - - - 0. 1408 - - - - - -
- _ - 1 - - - - - -
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